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o EALEREIUSE 54,596 39,043 0 0 1,150 14,403
~ |EARALEE 24,058 1,689 0 0 1,654 20,715
= [BFEUEE 2,700 32 0 0 197 2,471
o |[FEREIEE 80207 10,279 0 5,172 64.756
INET 161,561 51,043 0 0 8,173 102,345
it [ERERAKRER 10,848 5,521 0 0 394 4,933
= [NERESE 51,126 2,296 0 0 3,612 45218
R (BUSHEEERSE 9,329 6,068 0 0 241 3,020
53 INET 71,303 13,885 0 0 4,247 53,171
BIERZEE 11,232 866 0 1,064 688 8,614
R [ FHEESEE 4,724 154 0 0 338 4,232
| FELERXMERSEE 3,654 599 0 0 226 2,829
& BAVEEENREE 2,026 996 0 0 76 954
£ | BFRFEERMNESE 112 56 0 0 4 52
INET 21,748 2,671 0 1,064 1,332 16,681
Hit 254,612 67,599 0 1,064 13,752 172,197




